EARAROBEEIERT — 2 N— IBISH —F

2019568250 (:K) 5EIAH2H

m/\—wﬁ B1= #5%—f&

‘ [Riz] ¥

‘ [REBB] — | & (%) 1800M &

[A&4£] 1 7% :3,900,000 @ 23 :1,560,000 @ 3 3&:975,000 @ ~ 4 7% :585,000 @ . 5 7 :390,000 M
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
B Sy A > 5 | MEEA 1:55.3 1-1-1-1 | 39.5| — 4 514 | BYSEZ (KH)
11810 ¥ ¥ RyR—4 - 56.0 : (-) (+2) BRI —
:o—I>s9Y> B:7Oovid+v>RiL "HET77— L4
SN FREER -9-9- . - EREE (E)
ol7lg| FrvyrNTTY #H 5 zm (115/46) 9-9-9-9 |38.8 7 (4+611) nai
RN T—I—)b B:¥+vyRIIEH wWm A
. > 5 | BRES 1:55.8 11-11-10-7 | 39.0 | — 2 490 | ERZER (KFH)
3lgl11| 7> 7A—F—I ~ 56.0 (1 1/4) 1) ‘ﬁTJEEZ‘}’a
L:F=TA2NNT N B:571)—% HRXEHE /-
. < A > HEARH 1:56.6 2-4-2-2 | 40.7| — 1 493 | TEILBEEE (Z\iA)
:E/Zﬁ—f'\—/7 w6 56.0 .
. (4) HAIEE
LTIHIGEL TR AT H @) e —m
LEIES S :57. -10-11- . — EaARE— (KH)
7241y 4 6 e 1(537)2 10-10-11-101 40.2 8 (426) oy
R:Zg—Yrin—x BAITIILRAINL il
BEA :58. —2-3- . — EFHR= (KH)
RILFAS R #H 5 wpe 1 (548 0 3-2-3-4 | 42.0 9 (4_530) ot
R:74#H0 B:EILELILT« liEszie ]
NPT > THEREAE : -3-4- — AIRHZRE (KH)
EPRUPIEET: £ 5 s 1(75?:; 4-3-4-3 | 42.1 10 (4_752) SRy
oxA1ZTyr—R B:UHRO-LI =RE4S
RS 4 o4 | I3 1:58.3 7-7-6-6 | 42.0| — 6 491 | BRA—R (KH)
8|5|5| PST=>¥axitb .0 3/4) oy | @ hsr
R:8— kLRI B:T7LLH—0 Eal=ckies]
. 5 t> 6 | BARE 1:58.6 6-6-7-8 |42.0| — 5 490 | LRER (KH)
9 4 EAT Y T —F 0] %850 (1 3/4) (+2) s
Lo BFTULIE -2 INHINHT 7 — LI
S Sy S o8 | WIS 2:02.1 8-8-5-5 |46.1| — 11 473 | BRIE (K¥H#)
10 7 €7y 56.0 (&4 4%) (-1) TERC
L:g4=/F¥LLy b B:ROANEF Ty X BT 7 —L4
—y s + 7 | XHE - 5-8- - - i}E:FEﬁ (/IHE)
|79 |77V g %.0 (i) e 8 fjs) — k8
A2:Congrats fF:Hatta Flower T/C Stable, LLC
@ 1 — S —EBlIEf
13=7r= 10,3,2,1,9,4,5,7,8,6,11
2a=7r= 10,2,1,3,9,4,5,7,8,6,11
Jol=5r= 10,3,2,1,7,5,4,9,8,11,6
40—+ — 10,3,1,2,7,5,11,4,8,6,9
[ N3
H OB 10 1,080 714K 8-10 2,590 % E 7-8 700M RPEL:] 8-10-11 14,520
8 B 10 250M 10-11 740M B 8-7 1,070/ K31 10-8-11 132,250
8 450 8-11 1,270 B E 8-10 12,360M
1 1909 B H 10-8 22,380M
ABICOVWTRHDTERERRODLDE, THERLE,




